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F3 P

RS-232C 2/3

F1 ACK

F2 CR,LF

F3 P

ACK

[F1 ]

F2

ACK

F1

[F2 ]

[F1]

[F4]

[F1]

[F2]

[F4]

2/2

1 (RS-232)

1/3

[F4]

2/3

[F ]

[F2]( )

[F4]( )

[F1](ACK )

[ ]

[ ]ACK (

)
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CR,LF( ):

[ ] ( )

1 2/2

F1 RS-232C

P

RS-232C 1/3

F1

F2 /

F3 P

RS-232C 2/3

F1 ACK

F2 CR,LF

F3 P

CR,LF [ ]

[ ] [ ] ---

CR,LF [ ]

[ ] [ ] ---

[F1]

[F4]

[F2]

[F2]

[F4]

2/2

1 (RS-232)

1/3

[F4]

2/3

[F ]

[F2]( )

[F4]( )

[F2](CR,LF)

[ ]
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:

REC-A:

REC-B:

[ ] REC-A REC-B (

REC-A )

1 2/2

F1 RS-232C

P

RS-232C 1/3

F1

F2 /

F3 P

RS-232C 2/3

F1 ACK

F2 CR,LF

F3 P

[F1 REC-A]

F2 REC-B

F1 REC-A

[F2 REC-B]

[F1]

[F4]

[F3]

[F2]

[F4]

2/2

1 (RS-232)

1/3

[F4]

2/3

[F ]

[F2](REC-B)

[F4]( )

[F3]( )

[ ]
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1 2/2

F1 RS-232C

P

RS-232C 1/3

F1

F2 /

F3 P

RS-232C 3/3

F1

P

ACK:STD

COM:1200b-7-EVEN-1

CRLF:OFF REC:RECA

>OK? [ ] [ ]

ACK:STD

COM:1200b-7-EVEN-1

CRLF:OFF REC:RECA

>OK? [ ] [ ]

[F1]

[F4]

[F4]

[F1]

[F3]

[F4]

2/2

1 (RS-232)

1/3

[F4]

3/3

[F ]

[F3]( )

[F4]( )

[F1]( )
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20

:

(1) 100m AC

B AB AC BC

(2) :

=AB=+BC-AC

(3)

5.6

(4)

(5) 5mm
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--- ---

F1:

F2:

F3:

CONST:0002mm

--- ---

CONST:0008mm

--- --- [ ] [ ]

CONST:0008mm

...

[F1]+[ ]

[F1]

[1120]

[F4]

[F2]

[F1]

[F1]

[F4]

[F1]+[ ],

1 ( )

1120

[F4]( )

[F2]( )

[F ]

[F3]( )

1)

[F1]( )

[F4]( )
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(1) ( )

(2)

(3) 180

(1)

(2)

(3)

(4) 180

(5) (3) (4)
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(1)

(2)

(3)

(1)

(2)

(3)
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(1)

(2)

50m

(3)

(4)

(1)

(2)

50m

(3)

(4) 2

2
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4

(3) (4)

(1)

(2)

(3)

(4) 180

(1)

(2)

(3)

(4) 180

(5)
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(1)

(2)

(3)

(5)

(4) 180

(1)

(2) 180

4

(3) 1 2
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4

(1)

(2) 50m A

(3) A

A

(1) 50m A

(2)

A 4

(3) (3) (2)
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2C

(1)

(2) 10

Vl Vr

(3) i= ( Vl+Vr - 360 ) /2

(4) 10 10

(1)

(2)

(3) Hl Hr

C=(Hl-Hr 180 )/2

C<8 C>8

(1)

(2)

(3)

Hr =Hr+C
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--- ---

F1:

F2:

F3:

< >

VZ: 95 22 04

--- --- ---

< >

VZ: 275 40 04

--- --- ---

VI: -5 22 04

--- --- [ ] [ ]

[F1]+[ ]

[F1]

[1120]

[F4]

[F1]

( )

[F4]

( )

[F4]

[F1]+[ ],

1)

[F ]

) )

1 ( )

1120

[F4]( )

[F1]( )

[F4]( )

2 3

180

[F4]( )
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VI: -5 22 04

...

VI: -5 22 04

[F3])[F3]( ) 4
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2C

( RTS110 )

( RTS110 )

20m

(1)

(2) RTS110

2m

(3)

(4)

(5)

R/R5

(1)

1)

(2) 5m

(3)

(4)

(5)

2) 5.7

3)
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30

45mm

4

1 30

1.0m

( ) 79mm

1 /5 /10

RTS112/R/R5 2

RTS115/R 5

RTS112/115 RTS112R/115R RTS112R5

/ 300m 500m

(30mm 30mm) / 500m

(60mm 60mm) / 800m 800m

2200m 5000m 5000m

2500m / /

+/-99999999.999m

+/-1mm
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(2mm+2 10 D)

3s( )

2s( )

K=0.14/0.20

30 /2mm

8 /2mm

1 /5 /10

3

1

3

0.5m

4

635nm

Class2/IEC60825-1

0.5m

/

-6
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OLED

RS-232C USB ( )

7.4V/3400Ah

/ 8h

20h

-20 50

IP66

160mm 155mm 360mm

5.5Kg
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RTS110 20 1013hpa 0ppm

RTS11OR/R5 15 1013hpa 0ppm

Kpt 278.960 - 0.2904*p /(1 0.0036*t)......RTS110R/R5

Kpt 274.417 - 0.2905*p /(1 0.0036*t)......RTS110

P-- hpa

t-- ( )

Kpt-- (ppm)

t =15 P = 1013 hpa L0 = 1000m

Kpt = 0ppm

L=L (1+Kpt)=1000 (1+0 10 ) = 1000.000m

+20

1013hPa

+4ppm

0
-6
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-50

110

100

90

20

30

50

40

80

70

60

-40

-30

-20

-10

0

10
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110

100

90

80

-50

-40

-30

-20

-10

0

10

20

30

40

50

60

70
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HD VD

D=AC ( ) BE ( )

Z=BC ( ) EA ( )

D=L{cos -(2 )Sin }

Z=L{sin +( - )cos }

=L*cos /2R ......

=K*Lcos /2R ......

K=0.14 0.20

( ) ...... L ......

HD=LCOS VD=LSIN

-

......

R=6372km ......
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1)

BAUD RATE( ):2400/4800/9600/19200/38400

PARITY( ):NONE/ODD/EVEN

DATA BITS( ):7/8

STOP BITS( ):0/1/2

PROTOCOL( ):XON/XOFF NONE

2)

C1 C2 C3 ... Cn CR LF

C1-Cn

X,Y,Z,

101 994.815 1000 98 7 100.11 3 STN

CR(0DH) LF(0AH)

CONTROL WORD field1......fieldn

CONTROL WORD

field1 field-1

fieldn CR(0DH) LF(0AH)

143



JOB

BS [ ]

FS [ ]

SS [ ]

CTL [ 2[ 2]( )

HV HA ( ) VA( )

SD HA ( ) VA( ) SD( )

HD HA ( ) HD( ) VD( )

OFFSET

PTL_OFF

NOTE

NAME

INST

UNITS / /

SCALE

ATMOS

STN

XYZ X( ) Y( ) Z( )

BKB
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110

1 110setup.exe

2

1 Windows / 110

2

/
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1 U

2 U

CINDEX

CODE

CORD

MEAS

MINDEX

3
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4 110

5 3

6

7 SD

OK

8 SD

->
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9

10
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1 U

2 110

3

4 SD

OK

5
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6

7

8

9 2 2 U
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215000

0512-65224937

65238874

0512-65234356

http://www.foif.com.cn/

//www.syg.com.cn/

Email:sales@foif.com.cn


